LakeCounty Division of Transporta	ation					
Sec Descriț CPMS	oject: 33rd St, Kenosha Rd, Rusection: 20-00999-72-RS	Summary of Bids Rece ssell Rd Resurfacing t, Kenosha Road and Russell Roa				
<b>Bidder</b> Peter Baker & Son Company	<b>Address</b> 1349 Rockland Road	<b>City, State, Zip</b> Lake Bluff, IL 60044	<b>Bond</b> Bid Bond	<b>Bid Price En</b> \$3,576,769.19	Over/Under ng. Estimate -8.01%	\$ Over/Under Eng. Estimate -\$311,478.61
Engineer's Estimate				\$3,888,247.80		
Design	IDOT(2)	Contract Bidder	(	County Engineer		
Finance	Bid Tab File	Resident Eng.		Mgr Capital Programm	ning	
Construction	Project File	Request By Mail				
	_					



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item					Eng Es	timate	Peter Baker & \$	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20101100	TREE TRUNK PROTECTION	10.0	EACH	\$100.00	\$1,000.00	\$300.00	\$3,000.00
2	20101200	TREE ROOT PRUNING	15.0	EACH	\$100.00	\$1,500.00	\$110.00	\$1,650.00
3	20200100	EARTH EXCAVATION	200.0	CU YD	\$50.00	\$10,000.00	\$63.00	\$12,600.00
4	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	192.0	UNIT	\$300.00	\$57,600.00	\$193.00	\$37,056.00
5	20800150	TRENCH BACKFILL	182.0	CU YD	\$45.00	\$8,190.00	\$96.37	\$17,539.34
6	21101615	TOPSOIL FURNISH AND PLACE, 4"	2,120.0	SQ YD	\$6.00	\$12,720.00	\$0.10	\$212.00
7	21400100	GRADING AND SHAPING DITCHES	250.0	FOOT	\$12.00	\$3,000.00	\$17.20	\$4,300.00
8	25100630	EROSION CONTROL BLANKET	2,120.0	SQ YD	\$1.00	\$2,120.00	\$4.75	\$10,070.00
9	28000250	TEMPORARY EROSION CONTROL SEEDING	25.0	POUND	\$40.00	\$1,000.00	\$0.10	\$2.50
10	28000305	TEMPORARY DITCH CHECKS	150.0	FOOT	\$5.00	\$750.00	\$12.00	\$1,800.00
11	28000400	PERIMETER EROSION BARRIER	2,968.0	FOOT	\$3.00	\$8,904.00	\$2.85	\$8,458.80
12	28000500	INLET AND PIPE PROTECTION	5.0	EACH	\$150.00	\$750.00	\$125.00	\$625.00
13	28000510	INLET FILTERS	23.0	EACH	\$150.00	\$3,450.00	\$140.00	\$3,220.00
14	28001100	TEMPORARY EROSION CONTROL BLANKET	2,000.0	SQ YD	\$1.00	\$2,000.00	\$1.20	\$2,400.00
15	28100107	STONE RIPRAP, CLASS A4	84.0	SQ YD	\$70.00	\$5,880.00	\$199.67	\$16,772.28



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Day Oada	Paradatian.	0	11	Eng Es	timate	Peter Baker & Son Company		
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
16	28200200	FILTER FABRIC	128.0	SQ YD	\$5.00	\$640.00	\$5.00	\$640.00	
17	30300001	AGGREGATE SUBGRADE IMPROVEMENT	1,356.0	CU YD	\$40.00	\$54,240.00	\$5.00	\$6,780.00	
18	35101400	AGGREGATE BASE COURSE, TYPE B	3,101.0	TON	\$26.00	\$80,626.00	\$17.00	\$52,717.00	
19	35101600	AGGREGATE BASE COURSE, TYPE B 4"	67.0	SQ YD	\$10.00	\$670.00	\$6.50	\$435.50	
20	40000400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	40.0	TON	\$150.00	\$6,000.00	\$200.00	\$8,000.00	
21	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	668.0	SQ YD	\$13.00	\$8,684.00	\$1.00	\$668.00	
22	4Unu.3U85	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	3,069.0	TON	\$90.00	\$276,210.00	\$71.25	\$218,666.25	
23	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3,493.0	TON	\$90.00	\$314,370.00	\$94.20	\$329,040.60	
24	40h040h0	HOT-MIX ASPHALT SURFACE COURSE, IL- 9.5, MIX "D", N50	9,321.0	TON	\$100.00	\$932,100.00	\$76.60	\$713,988.60	
25	40700100	BITUMINOUS MATERIALS (TACK COAT)	61,960.0	POUND	\$0.01	\$619.60	\$0.01	\$619.60	
26	42001300	PROTECTIVE COAT	261.0	SQ YD	\$3.00	\$783.00	\$5.00	\$1,305.00	
27	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	601.0	SQ FT	\$9.00	\$5,409.00	\$12.50	\$7,512.50	
28	42400800	DETECTABLE WARNINGS	70.0	SQ FT	\$35.00	\$2,450.00	\$65.00	\$4,550.00	
29	44000100	PAVEMENT REMOVAL	54.0	SQ YD	\$24.00	\$1,296.00	\$53.00	\$2,862.00	



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Day Code	Description	Overetitus	l lmi4	Eng Es	timate	Peter Baker & \$	on Company	
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
30	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	75,609.0	SQ YD	\$2.00	\$151,218.00	\$3.20	\$241,948.80	
31	44000200	DRIVEWAY PAVEMENT REMOVAL	7,307.0	SQ YD	\$10.00	\$73,070.00	\$3.00	\$21,921.00	
32	44000500	COMBINATION CURB AND GUTTER REMOVAL	773.0	FOOT	\$7.00	\$5,411.00	\$8.00	\$6,184.00	
33	44000600	SIDEWALK REMOVAL	149.0	SQ FT	\$4.00	\$596.00	\$2.50	\$372.50	
34	44004250	PAVED SHOULDER REMOVAL	7,593.0	SQ YD	\$10.00	\$75,930.00	\$6.60	\$50,113.80	
35	44201737	CLASS D PATCHES, TYPE I, 8 INCH	372.0	SQ YD	\$20.00	\$7,440.00	\$30.00	\$11,160.00	
36	44201741	CLASS D PATCHES, TYPE II, 8 INCH	557.0	SQ YD	\$30.00	\$16,710.00	\$30.00	\$16,710.00	
37	44201745	CLASS D PATCHES, TYPE III, 8 INCH	1,758.0	SQ YD	\$30.00	\$52,740.00	\$30.00	\$52,740.00	
38	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	1,229.0	SQ YD	\$40.00	\$49,160.00	\$30.00	\$36,870.00	
39	48101200	AGGREGATE SHOULDERS, TYPE B	1,115.0	TON	\$65.00	\$72,475.00	\$52.20	\$58,203.00	
40	52200015	PERMANENT SHEET PILING	9,212.0	SQ FT	\$45.00	\$414,540.00	\$38.10	\$350,977.20	
41	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	4.0	EACH	\$800.00	\$3,200.00	\$1,399.57	\$5,598.28	
42	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	28.0	EACH	\$850.00	\$23,800.00	\$1,371.03	\$38,388.84	
43	54213669	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	8.0	EACH	\$1,250.00	\$10,000.00	\$2,006.80	\$16,054.40	



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	<b>5</b> 0 1	2			Eng Es	timate	Peter Baker & Son Company	
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
44	54213675	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 30"	2.0	EACH	\$1,500.00	\$3,000.00	\$2,390.62	\$4,781.24
45	54213687	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 42"	6.0	EACH	\$2,000.00	\$12,000.00	\$3,051.24	\$18,307.44
46	54213693	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 48"	4.0	EACH	\$2,250.00	\$9,000.00	\$3,834.25	\$15,337.00
47	54247180	GRATING FOR CONCRETE FLARED END SECTION 42"	6.0	EACH	\$1,000.00	\$6,000.00	\$755.75	\$4,534.50
48	5424/190	GRATING FOR CONCRETE FLARED END SECTION 48"	4.0	EACH	\$1,200.00	\$4,800.00	\$888.00	\$3,552.00
49	542A1069	PIPE CULVERTS, CLASS A, TYPE 2 24"	178.0	FOOT	\$90.00	\$16,020.00	\$249.07	\$44,334.46
50	542A1075	PIPE CULVERTS, CLASS A, TYPE 2 30"	50.0	FOOT	\$100.00	\$5,000.00	\$255.66	\$12,783.00
51	542A1087	PIPE CULVERTS, CLASS A, TYPE 2 42"	59.0	FOOT	\$130.00	\$7,670.00	\$410.31	\$24,208.29
52	542A1093	PIPE CULVERTS, CLASS A, TYPE 2 48"	103.0	FOOT	\$160.00	\$16,480.00	\$293.65	\$30,245.95
53	542D0217	PIPE CULVERTS, CLASS D, TYPE 1 12"	64.0	FOOT	\$55.00	\$3,520.00	\$114.35	\$7,318.40
54	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	472.0	FOOT	\$60.00	\$28,320.00	\$110.26	\$52,042.72
55	542D0229	PIPE CULVERTS, CLASS D, TYPE 1 24"	5.0	FOOT	\$150.00	\$750.00	\$388.97	\$1,944.85
56	542D0247	PIPE CULVERTS, CLASS D, TYPE 1 42"	32.0	FOOT	\$120.00	\$3,840.00	\$381.95	\$12,222.40
57	55100500	STORM SEWER REMOVAL 12"	88.0	FOOT	\$18.00	\$1,584.00	\$16.88	\$1,485.44



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Day Cada	Description	Overtity	l lmi4	Eng Es	timate	Peter Baker & \$	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
58	55100700	STORM SEWER REMOVAL 15"	607.0	FOOT	\$18.00	\$10,926.00	\$17.13	\$10,397.91
59	55101200	STORM SEWER REMOVAL 24"	50.0	FOOT	\$20.00	\$1,000.00	\$29.70	\$1,485.00
60	55101400	STORM SEWER REMOVAL 30"	60.0	FOOT	\$27.00	\$1,620.00	\$37.13	\$2,227.80
61	55101800	STORM SEWER REMOVAL 42"	71.0	FOOT	\$35.00	\$2,485.00	\$56.90	\$4,039.90
62	55101900	STORM SEWER REMOVAL 48"	127.0	FOOT	\$40.00	\$5,080.00	\$58.51	\$7,430.77
63	58600101	GRANULAR BACKFILL FOR STRUCTURES	46.0	CU YD	\$75.00	\$3,450.00	\$100.00	\$4,600.00
64	60100905	PIPE DRAINS 4"	75.0	FOOT	\$35.00	\$2,625.00	\$25.18	\$1,888.50
65	60100915	PIPE DRAINS 6"	75.0	FOOT	\$45.00	\$3,375.00	\$36.02	\$2,701.50
66	60255500	MANHOLES TO BE ADJUSTED	2.0	EACH	\$750.00	\$1,500.00	\$775.00	\$1,550.00
67	60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	761.0	FOOT	\$26.00	\$19,786.00	\$48.00	\$36,528.00
68	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	76.0	FOOT	\$55.00	\$4,180.00	\$75.00	\$5,700.00
69	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	1,540.0	FOOT	\$24.00	\$36,960.00	\$38.00	\$58,520.00
70	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	9.0	EACH	\$3,000.00	\$27,000.00	\$3,600.00	\$32,400.00
71	63100169	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) FLARED	1.0	EACH	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	D 0I-	Baranin tian	0	1124	Eng Es	timate	Peter Baker & Son Company		
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
72	63200310	GUARDRAIL REMOVAL	1,601.0	FOOT	\$7.00	\$11,207.00	\$17.50	\$28,017.50	
73	66900200	NON-SPECIAL WASTE DISPOSAL	50.0	CU YD	\$170.00	\$8,500.00	\$75.00	\$3,750.00	
74	66900450	SPECIAL WASTE PLANS AND REPORTS	1.0	L SUM	\$7,000.00	\$7,000.00	\$3,000.00	\$3,000.00	
75	66900530	SOIL DISPOSAL ANALYSIS	3.0	EACH	\$2,000.00	\$6,000.00	\$1,300.00	\$3,900.00	
76	67100100	MOBILIZATION	1.0	L SUM	\$150,000.00	\$150,000.00	\$214,429.00	\$214,429.00	
77	70107025	CHANGEABLE MESSAGE SIGN	86.0	CAL DA	\$30.00	\$2,580.00	\$28.00	\$2,408.00	
78	70300100	SHORT TERM PAVEMENT MARKING	68,235.0	FOOT	\$0.25	\$17,058.75	\$0.01	\$682.35	
79	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	12,233.0	SQ FT	\$0.35	\$4,281.55	\$0.01	\$122.33	
80	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	34,117.0	FOOT	\$1.00	\$34,117.00	\$0.01	\$341.17	
81	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	458.0	SQ FT	\$5.00	\$2,290.00	\$4.65	\$2,129.70	
82	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	13,022.0	FOOT	\$1.00	\$13,022.00	\$0.55	\$7,162.10	
83	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	45,854.0	FOOT	\$1.10	\$50,439.40	\$0.60	\$27,512.40	
84	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	1,456.0	FOOT	\$1.50	\$2,184.00	\$0.75	\$1,092.00	



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

	1							
Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	Son Company
No.	l ay code	Description	Quantity	Onit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
85	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	670.0	FOOT	\$2.00	\$1,340.00	\$1.10	\$737.00
86	/8000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	106.0	FOOT	\$10.00	\$1,060.00	\$4.65	\$492.90
87	88600600	DETECTOR LOOP REPLACEMENT	25.0	FOOT	\$40.00	\$1,000.00	\$50.00	\$1,250.00
88	LC200051	REJECTED LOAD TRANSPORTATION	40.0	LOAD	\$150.00	\$6,000.00	\$0.01	\$0.40
89	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	28,515.0	UNIT	\$1.00	\$28,515.00	\$1.00	\$28,515.00
90	1 02/00/100	BUTT JOINT FOR ENTRANCE RESURFACING	3,300.0	FOOT	\$8.00	\$26,400.00	\$1.00	\$3,300.00
91	LC500231	GRATING FOR CONCRETE FLARED END SECTION 24"	8.0	EACH	\$550.00	\$4,400.00	\$718.38	\$5,747.04
92	LC500232	GRATING FOR CONCRETE FLARED END SECTION 30"	2.0	EACH	\$750.00	\$1,500.00	\$786.80	\$1,573.60
93	LC501001	CLEAN AND TELEVISE STORM SEWER 12"	137.0	FOOT	\$45.00	\$6,165.00	\$18.00	\$2,466.00
94	LC501002	CLEAN AND TELEVISE STORM SEWER 15"	81.0	FOOT	\$65.00	\$5,265.00	\$33.00	\$2,673.00
95	LC501009	CLEAN AND TELEVISE STORM SEWER 42"	56.0	FOOT	\$70.00	\$3,920.00	\$67.90	\$3,802.40
96	LC501011	CLEAN AND TELEVISE STORM SEWER 54"	77.0	FOOT	\$80.00	\$6,160.00	\$35.00	\$2,695.00



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Day Cada	December 1	Overetite.	l lmi4	Eng Es	timate	Peter Baker & \$	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
97	LC600200	INSTALL SURVEY MONUMENTS	6.0	EACH	\$1,000.00	\$6,000.00	\$495.00	\$2,970.00
98	LC782000	GUARDRAIL REFLECTORS	65.0	EACH	\$12.00	\$780.00	\$8.00	\$520.00
99	X0322936	REMOVE EXISTING FLARED END SECTION	37.0	EACH	\$250.00	\$9,250.00	\$154.87	\$5,730.19
100	X0323265	REMOVE EXISTING RIPRAP	38.0	SQ YD	\$40.00	\$1,520.00	\$39.08	\$1,485.04
101	X0326697	CENTER LINE - RUMBLE STRIP - 8"	13,484.0	FOOT	\$7.50	\$101,130.00	\$1.40	\$18,877.60
102	X0426200	DEWATERING	1.0	L SUM	\$9,000.00	\$9,000.00	\$38,910.00	\$38,910.00
103	X2500322	SEEDING, CLASS 5A, (MODIFIED)	0.4	ACRE	\$6,820.00	\$2,728.00	\$2,420.00	\$968.00
104	X2502014	SEEDING, CLASS 4A (MODIFIED)	0.4	ACRE	\$6,820.00	\$2,728.00	\$2,420.00	\$968.00
105	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	147.0	EACH	\$60.00	\$8,820.00	\$5.00	\$735.00
106	X4022000	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	3.0	EACH	\$800.00	\$2,400.00	\$10.00	\$30.00
107	X4810200	AGGREGATE SHOULDER REMOVAL	41.0	CU YD	\$55.00	\$2,255.00	\$110.00	\$4,510.00
108	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	11.0	EACH	\$1,000.00	\$11,000.00	\$1,450.00	\$15,950.00
109	x6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	4.0	CAL MO	\$2,500.00	\$10,000.00	\$3,000.00	\$12,000.00
110	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$100,000.00	\$100,000.00	\$139,819.00	\$139,819.00



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Day Code	Description	Ougatitu	l lmi4	Eng Es	timate	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
111	X /XUUX15	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	18,942.0	FOOT	\$0.50	\$9,471.00	\$0.47	\$8,902.74
112	X /830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	458.0	SQ FT	\$8.00	\$3,664.00	\$1.50	\$687.00
113	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	13,022.0	FOOT	\$0.75	\$9,766.50	\$0.30	\$3,906.60
114	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	45,854.0	FOOT	\$1.00	\$45,854.00	\$0.38	\$17,424.52
115	X / X 3(1)(1/4	GROOVING FOR RECESSED PAVEMENT MARKING 7"	1,456.0	FOOT	\$1.00	\$1,456.00	\$0.50	\$728.00
116	X / X 3 1 1 1 1 / X	GROOVING FOR RECESSED PAVEMENT MARKING 13"	670.0	FOOT	\$2.50	\$1,675.00	\$1.00	\$670.00
117	X / X.3UU9U	GROOVING FOR RECESSED PAVEMENT MARKING 25"	106.0	FOOT	\$8.00	\$848.00	\$1.50	\$159.00
118	XX006343	SEEDING (COMPLETE)	15,741.0	SQ YD	\$5.00	\$78,705.00	\$5.75	\$90,510.75
119	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00
120	Z0015550	DEBRIS REMOVAL	25.0	CU YD	\$150.00	\$3,750.00	\$100.00	\$2,500.00
121	Z0030850	TEMPORARY INFORMATION SIGNING	578.0	SQ FT	\$15.00	\$8,670.00	\$2.00	\$1,156.00
122	Z0033700	LONGITUDINAL JOINT SEALANT	26,150.0	FOOT	\$1.00	\$26,150.00	\$2.22	\$58,053.00
		Bid Total				\$3,888,247.80		\$3,576,769.19



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Pay Codo	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	O	Unit Price	Extnd. Price	Price	Price	Price
1	20101100	TREE TRUNK PROTECTION	10.0	EACH	\$100.00	\$1,000.00	\$300.00	\$300.00	\$300.00
2	20101200	TREE ROOT PRUNING	15.0	EACH	\$100.00	\$1,500.00	\$110.00	\$110.00	\$110.00
3	20200100	EARTH EXCAVATION	200.0	CU YD	\$50.00	\$10,000.00	\$63.00	\$63.00	\$63.00
4		EXCAVATING AND GRADING EXISTING SHOULDER	192.0	UNIT	\$300.00	\$57,600.00	\$193.00	\$193.00	\$193.00
5	20800150	TRENCH BACKFILL	182.0	CU YD	\$45.00	\$8,190.00	\$96.37	\$96.37	\$96.37
6	21101615	TOPSOIL FURNISH AND PLACE, 4"	2,120.0	SQ YD	\$6.00	\$12,720.00	\$0.10	\$0.10	\$0.10
7	21400100	GRADING AND SHAPING DITCHES	250.0	FOOT	\$12.00	\$3,000.00	\$17.20	\$17.20	\$17.20
8	25100630	EROSION CONTROL BLANKET	2,120.0	SQ YD	\$1.00	\$2,120.00	\$4.75	\$4.75	\$4.75
9	28000250	TEMPORARY EROSION CONTROL SEEDING	25.0	POUND	\$40.00	\$1,000.00	\$0.10	\$0.10	\$0.10
10	28000305	TEMPORARY DITCH CHECKS	150.0	FOOT	\$5.00	\$750.00	\$12.00	\$12.00	\$12.00
11	28000400	PERIMETER EROSION BARRIER	2,968.0	FOOT	\$3.00	\$8,904.00	\$2.85	\$2.85	\$2.85
12	28000500	INLET AND PIPE PROTECTION	5.0	EACH	\$150.00	\$750.00	\$125.00	\$125.00	\$125.00
13	28000510	INLET FILTERS	23.0	EACH	\$150.00	\$3,450.00	\$140.00	\$140.00	\$140.00
14	28001100	TEMPORARY EROSION CONTROL BLANKET	2,000.0	SQ YD	\$1.00	\$2,000.00	\$1.20	\$1.20	\$1.20



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

	Let Date: 0/11/2021									
Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid Price	
No.	1 dy Code	Description	Quartity	Ome	Unit Price	Extnd. Price	Price	Price		
15	28100107	STONE RIPRAP, CLASS A4	84.0	SQ YD	\$70.00	\$5,880.00	\$199.67	\$199.67	\$199.67	
16	28200200	FILTER FABRIC	128.0	SQ YD	\$5.00	\$640.00	\$5.00	\$5.00	\$5.00	
17	30300001	AGGREGATE SUBGRADE IMPROVEMENT	1,356.0	CU YD	\$40.00	\$54,240.00	\$5.00	\$5.00	\$5.00	
18	35101400	AGGREGATE BASE COURSE, TYPE B	3,101.0	TON	\$26.00	\$80,626.00	\$17.00	\$17.00	\$17.00	
19	35101600	AGGREGATE BASE COURSE, TYPE B 4"	67.0	SQ YD	\$10.00	\$670.00	\$6.50	\$6.50	\$6.50	
20	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	40.0	TON	\$150.00	\$6,000.00	\$200.00	\$200.00	\$200.00	
21	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	668.0	SQ YD	\$13.00	\$8,684.00	\$1.00	\$1.00	\$1.00	
22	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	3,069.0	TON	\$90.00	\$276,210.00	\$71.25	\$71.25	\$71.25	
23	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3,493.0	TON	\$90.00	\$314,370.00	\$94.20	\$94.20	\$94.20	
24	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL- $9.5$ , MIX "D", $N50$	9,321.0	TON	\$100.00	\$932,100.00	\$76.60	\$76.60	\$76.60	
25	40700100	BITUMINOUS MATERIALS (TACK COAT)	61,960.0	POUND	\$0.01	\$619.60	\$0.01	\$0.01	\$0.01	
26	42001300	PROTECTIVE COAT	261.0	SQ YD	\$3.00	\$783.00	\$5.00	\$5.00	\$5.00	
27	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	601.0	SQ FT	\$9.00	\$5,409.00	\$12.50	\$12.50	\$12.50	



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

	Lot Dato.	0/11/2021							
Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	Price
28	42400800	DETECTABLE WARNINGS	70.0	SQ FT	\$35.00	\$2,450.00	\$65.00	\$65.00	\$65.00
29	44000100	PAVEMENT REMOVAL	54.0	SQ YD	\$24.00	\$1,296.00	\$53.00	\$53.00	\$53.00
30	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	75,609.0	SQ YD	\$2.00	\$151,218.00	\$3.20	\$3.20	\$3.20
31	44000200	DRIVEWAY PAVEMENT REMOVAL	7,307.0	SQ YD	\$10.00	\$73,070.00	\$3.00	\$3.00	\$3.00
32	44000500	COMBINATION CURB AND GUTTER REMOVAL	773.0	FOOT	\$7.00	\$5,411.00	\$8.00	\$8.00	\$8.00
33	44000600	SIDEWALK REMOVAL	149.0	SQ FT	\$4.00	\$596.00	\$2.50	\$2.50	\$2.50
34	44004250	PAVED SHOULDER REMOVAL	7,593.0	SQ YD	\$10.00	\$75,930.00	\$6.60	\$6.60	\$6.60
35	44201737	CLASS D PATCHES, TYPE I, 8 INCH	372.0	SQ YD	\$20.00	\$7,440.00	\$30.00	\$30.00	\$30.00
36	44201741	CLASS D PATCHES, TYPE II, 8 INCH	557.0	SQ YD	\$30.00	\$16,710.00	\$30.00	\$30.00	\$30.00
37	44201745	CLASS D PATCHES, TYPE III, 8 INCH	1,758.0	SQ YD	\$30.00	\$52,740.00	\$30.00	\$30.00	\$30.00
38	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	1,229.0	SQ YD	\$40.00	\$49,160.00	\$30.00	\$30.00	\$30.00
39	48101200	AGGREGATE SHOULDERS, TYPE B	1,115.0	TON	\$65.00	\$72,475.00	\$52.20	\$52.20	\$52.20
40	52200015	PERMANENT SHEET PILING	9,212.0	SQ FT	\$45.00	\$414,540.00	\$38.10	\$38.10	\$38.10
41	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	4.0	EACH	\$800.00	\$3,200.00	\$1,399.57	\$1,399.57	\$1,399.57



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item		0/11/2021			Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
42	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	28.0	EACH	\$850.00	\$23,800.00	\$1,371.03	\$1,371.03	\$1,371.03
43	5/171366U	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	8.0	EACH	\$1,250.00	\$10,000.00	\$2,006.80	\$2,006.80	\$2,006.80
44	5/17/136/5	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 30"	2.0	EACH	\$1,500.00	\$3,000.00	\$2,390.62	\$2,390.62	\$2,390.62
45	54213687	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 42"	6.0	EACH	\$2,000.00	\$12,000.00	\$3,051.24	\$3,051.24	\$3,051.24
46	5/17/13603	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 48"	4.0	EACH	\$2,250.00	\$9,000.00	\$3,834.25	\$3,834.25	\$3,834.25
47	5/17/1/18(1	GRATING FOR CONCRETE FLARED END SECTION 42"	6.0	EACH	\$1,000.00	\$6,000.00	\$755.75	\$755.75	\$755.75
48	5/17/17/10II	GRATING FOR CONCRETE FLARED END SECTION 48"	4.0	EACH	\$1,200.00	\$4,800.00	\$888.00	\$888.00	\$888.00
49	542A1069	PIPE CULVERTS, CLASS A, TYPE 2 24"	178.0	FOOT	\$90.00	\$16,020.00	\$249.07	\$249.07	\$249.07
50	542A1075	PIPE CULVERTS, CLASS A, TYPE 2 30"	50.0	FOOT	\$100.00	\$5,000.00	\$255.66	\$255.66	\$255.66
51	542A1087	PIPE CULVERTS, CLASS A, TYPE 2 42"	59.0	FOOT	\$130.00	\$7,670.00	\$410.31	\$410.31	\$410.31
52	542A1093	PIPE CULVERTS, CLASS A, TYPE 2 48"	103.0	FOOT	\$160.00	\$16,480.00	\$293.65	\$293.65	\$293.65
53	542D0217	PIPE CULVERTS, CLASS D, TYPE 1 12"	64.0	FOOT	\$55.00	\$3,520.00	\$114.35	\$114.35	\$114.35
54	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	472.0	FOOT	\$60.00	\$28,320.00	\$110.26	\$110.26	\$110.26



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

**Section:** 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Pay Code	e Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
55	542D0229	PIPE CULVERTS, CLASS D, TYPE 1 24"	5.0	FOOT	\$150.00	\$750.00	\$388.97	\$388.97	\$388.97
56	542D0247	PIPE CULVERTS, CLASS D, TYPE 1 42"	32.0	FOOT	\$120.00	\$3,840.00	\$381.95	\$381.95	\$381.95
57	55100500	STORM SEWER REMOVAL 12"	88.0	FOOT	\$18.00	\$1,584.00	\$16.88	\$16.88	\$16.88
58	55100700	STORM SEWER REMOVAL 15"	607.0	FOOT	\$18.00	\$10,926.00	\$17.13	\$17.13	\$17.13
59	55101200	STORM SEWER REMOVAL 24"	50.0	FOOT	\$20.00	\$1,000.00	\$29.70	\$29.70	\$29.70
60	55101400	STORM SEWER REMOVAL 30"	60.0	FOOT	\$27.00	\$1,620.00	\$37.13	\$37.13	\$37.13
61	55101800	STORM SEWER REMOVAL 42"	71.0	FOOT	\$35.00	\$2,485.00	\$56.90	\$56.90	\$56.90
62	55101900	STORM SEWER REMOVAL 48"	127.0	FOOT	\$40.00	\$5,080.00	\$58.51	\$58.51	\$58.51
63	58600101	GRANULAR BACKFILL FOR STRUCTURES	46.0	CU YD	\$75.00	\$3,450.00	\$100.00	\$100.00	\$100.00
64	60100905	PIPE DRAINS 4"	75.0	FOOT	\$35.00	\$2,625.00	\$25.18	\$25.18	\$25.18
65	60100915	PIPE DRAINS 6"	75.0	FOOT	\$45.00	\$3,375.00	\$36.02	\$36.02	\$36.02
66	60255500	MANHOLES TO BE ADJUSTED	2.0	EACH	\$750.00	\$1,500.00	\$775.00	\$775.00	\$775.00
67	60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	761.0	FOOT	\$26.00	\$19,786.00	\$48.00	\$48.00	\$48.00
68	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	76.0	FOOT	\$55.00	\$4,180.00	\$75.00	\$75.00	\$75.00



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

ltem	Day Cada	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Onit	Unit Price	Extnd. Price	Price	Price	Price
69	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	1,540.0	FOOT	\$24.00	\$36,960.00	\$38.00	\$38.00	\$38.00
70	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	9.0	EACH	\$3,000.00	\$27,000.00	\$3,600.00	\$3,600.00	\$3,600.00
71	63100169	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) FLARED	1.0	EACH	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$3,500.00
72	63200310	GUARDRAIL REMOVAL	1,601.0	FOOT	\$7.00	\$11,207.00	\$17.50	\$17.50	\$17.50
73	66900200	NON-SPECIAL WASTE DISPOSAL	50.0	CU YD	\$170.00	\$8,500.00	\$75.00	\$75.00	\$75.00
74	66900450	SPECIAL WASTE PLANS AND REPORTS	1.0	L SUM	\$7,000.00	\$7,000.00	\$3,000.00	\$3,000.00	\$3,000.00
75	66900530	SOIL DISPOSAL ANALYSIS	3.0	EACH	\$2,000.00	\$6,000.00	\$1,300.00	\$1,300.00	\$1,300.00
76	67100100	MOBILIZATION	1.0	L SUM	\$150,000.00	\$150,000.00	\$214,429.00	\$214,429.00	\$214,429.00
77	70107025	CHANGEABLE MESSAGE SIGN	86.0	CAL DA	\$30.00	\$2,580.00	\$28.00	\$28.00	\$28.00
78	70300100	SHORT TERM PAVEMENT MARKING	68,235.0	FOOT	\$0.25	\$17,058.75	\$0.01	\$0.01	\$0.01
79	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	12,233.0	SQ FT	\$0.35	\$4,281.55	\$0.01	\$0.01	\$0.01
80	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	34,117.0	FOOT	\$1.00	\$34,117.00	\$0.01	\$0.01	\$0.01
81	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	458.0	SQ FT	\$5.00	\$2,290.00	\$4.65	\$4.65	\$4.65



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Day Cada	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
82	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	13,022.0	FOOT	\$1.00	\$13,022.00	\$0.55	\$0.55	\$0.55
83	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	45,854.0	FOOT	\$1.10	\$50,439.40	\$0.60	\$0.60	\$0.60
84	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	1,456.0	FOOT	\$1.50	\$2,184.00	\$0.75	\$0.75	\$0.75
85	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	670.0	FOOT	\$2.00	\$1,340.00	\$1.10	\$1.10	\$1.10
86	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	106.0	FOOT	\$10.00	\$1,060.00	\$4.65	\$4.65	\$4.65
87	88600600	DETECTOR LOOP REPLACEMENT	25.0	FOOT	\$40.00	\$1,000.00	\$50.00	\$50.00	\$50.00
88	LC200051	REJECTED LOAD TRANSPORTATION	40.0	LOAD	\$150.00	\$6,000.00	\$0.01	\$0.01	\$0.01
89	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	28,515.0	UNIT	\$1.00	\$28,515.00	\$1.00	\$1.00	\$1.00
90	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	3,300.0	FOOT	\$8.00	\$26,400.00	\$1.00	\$1.00	\$1.00
91	LC500231	GRATING FOR CONCRETE FLARED END SECTION 24"	8.0	EACH	\$550.00	\$4,400.00	\$718.38	\$718.38	\$718.38
92	LC500232	GRATING FOR CONCRETE FLARED END SECTION 30"	2.0	EACH	\$750.00	\$1,500.00	\$786.80	\$786.80	\$786.80



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Day Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Onit	Unit Price	Extnd. Price	Price	Price	Price
93	LC501001	CLEAN AND TELEVISE STORM SEWER 12"	137.0	FOOT	\$45.00	\$6,165.00	\$18.00	\$18.00	\$18.00
94	LC501002	CLEAN AND TELEVISE STORM SEWER 15"	81.0	FOOT	\$65.00	\$5,265.00	\$33.00	\$33.00	\$33.00
95	LC501009	CLEAN AND TELEVISE STORM SEWER 42"	56.0	FOOT	\$70.00	\$3,920.00	\$67.90	\$67.90	\$67.90
96	LC501011	CLEAN AND TELEVISE STORM SEWER 54"	77.0	FOOT	\$80.00	\$6,160.00	\$35.00	\$35.00	\$35.00
97	LC600200	INSTALL SURVEY MONUMENTS	6.0	EACH	\$1,000.00	\$6,000.00	\$495.00	\$495.00	\$495.00
98	LC782000	GUARDRAIL REFLECTORS	65.0	EACH	\$12.00	\$780.00	\$8.00	\$8.00	\$8.00
99	X0322936	REMOVE EXISTING FLARED END SECTION	37.0	EACH	\$250.00	\$9,250.00	\$154.87	\$154.87	\$154.87
100	X0323265	REMOVE EXISTING RIPRAP	38.0	SQ YD	\$40.00	\$1,520.00	\$39.08	\$39.08	\$39.08
101	X0326697	CENTER LINE - RUMBLE STRIP - 8"	13,484.0	FOOT	\$7.50	\$101,130.00	\$1.40	\$1.40	\$1.40
102	X0426200	DEWATERING	1.0	L SUM	\$9,000.00	\$9,000.00	\$38,910.00	\$38,910.00	\$38,910.00
103	X2500322	SEEDING, CLASS 5A, (MODIFIED)	0.4	ACRE	\$6,820.00	\$2,728.00	\$2,420.00	\$2,420.00	\$2,420.00
104	X2502014	SEEDING, CLASS 4A (MODIFIED)	0.4	ACRE	\$6,820.00	\$2,728.00	\$2,420.00	\$2,420.00	\$2,420.00
105	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	147.0	EACH	\$60.00	\$8,820.00	\$5.00	\$5.00	\$5.00



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Item Bay Code	Description	Quantity	ity Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity		Unit Price	Extnd. Price	Price	Price	Price
106	X4022000	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	3.0	EACH	\$800.00	\$2,400.00	\$10.00	\$10.00	\$10.00
107	X4810200	AGGREGATE SHOULDER REMOVAL	41.0	CU YD	\$55.00	\$2,255.00	\$110.00	\$110.00	\$110.00
108	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	11.0	EACH	\$1,000.00	\$11,000.00	\$1,450.00	\$1,450.00	\$1,450.00
109	x6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	4.0	CAL MO	\$2,500.00	\$10,000.00	\$3,000.00	\$3,000.00	\$3,000.00
110	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$100,000.00	\$100,000.00	\$139,819.00	\$139,819.00	\$139,819.00
111	X / ALILIA 13	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	18,942.0	FOOT	\$0.50	\$9,471.00	\$0.47	\$0.47	\$0.47
112	X /830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	458.0	SQ FT	\$8.00	\$3,664.00	\$1.50	\$1.50	\$1.50
113	X / X 3(1(1)/(1)	GROOVING FOR RECESSED PAVEMENT MARKING 5"	13,022.0	FOOT	\$0.75	\$9,766.50	\$0.30	\$0.30	\$0.30
114	X / X 3001/2	GROOVING FOR RECESSED PAVEMENT MARKING 6"	45,854.0	FOOT	\$1.00	\$45,854.00	\$0.38	\$0.38	\$0.38
115	X /8300/4	GROOVING FOR RECESSED PAVEMENT MARKING 7"	1,456.0	FOOT	\$1.00	\$1,456.00	\$0.50	\$0.50	\$0.50
116	X /X 31111/X	GROOVING FOR RECESSED PAVEMENT MARKING 13"	670.0	FOOT	\$2.50	\$1,675.00	\$1.00	\$1.00	\$1.00



Project: 33rd St, Kenosha Rd, Russell Rd Resurfacing

Section: 20-00999-72-RS

Description: Resurfacing of 33rd Street, Kenosha Road and Russell Road

Item	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code				Unit Price	Extnd. Price	Price	Price	Price
117	x /x/3/1/1/u/i	GROOVING FOR RECESSED PAVEMENT MARKING 25"	106.0	FOOT	\$8.00	\$848.00	\$1.50	\$1.50	\$1.50
118	XX006343	SEEDING (COMPLETE)	15,741.0	SQ YD	\$5.00	\$78,705.00	\$5.75	\$5.75	\$5.75
119	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$20,000.00
120	Z0015550	DEBRIS REMOVAL	25.0	CU YD	\$150.00	\$3,750.00	\$100.00	\$100.00	\$100.00
121	Z0030850	TEMPORARY INFORMATION SIGNING	578.0	SQ FT	\$15.00	\$8,670.00	\$2.00	\$2.00	\$2.00
122	Z0033700	LONGITUDINAL JOINT SEALANT	26,150.0	FOOT	\$1.00	\$26,150.00	\$2.22	\$2.22	\$2.22
		Bid Total				\$3,888,247.80			